ELEC 2200-002 Digital Logic Circuits 
Fall 2008
Homework 3 Problems
Assigned 9/10/08, due 9/17/08

Problem 1: Multiply 4-bit 2’s complement integers, 0111 × 1011, to obtain an 8-bit result.
Problrm 2: For n-bit binary integers find the Hamming distance between positive and negative number of the same magnitude k when the numbers are:

(a) Signed integers, i.e., MSB is used as sign bit and other bits used for magnitude.
(b) 1’s complement.

(c) 2’s complement (show that, 1 ≤ HD(k, – k) ≤ n – 1).

Problem 3:  Write the 7-bit ASCII codes for symbols 0, 1, 2, . . . 9, and construct their 8-bit even and odd  parity versions.
Problem 4: Interpret the following 32-bit binary data:




0110 0001 0110 0010 0110 0011 0110 0100

as

(a) 2’s complement integer.

(b) Characters from 8-bit ASCII code with odd parity (See Table 1.11 and Section 1.53 of textbook).

(c) IEEE 754 floating point number.



























































